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·é¤Ü ÂýàÙô´ ·¤è â¢BØæ Ñ 19 ]	 [ ·é¤Ü ×éç¼ýÌ ÂëcÆUô´ ·¤è â¢BØæ Ñ 11
Total No. of Questions : 19 ]	 [ Total No. of Printed Pages : 11

E-192220-A

çßáØ Ñ ÚUâæØÙ àææS˜æ
Subject : Chemistry 

â×Ø Ñ 3 ƒæ‡ÅðU ]	 [ Âê‡ææZ·¤ Ñ 75
Time : 3 hours ]	 [ Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙ ¥çÙßæØü ãñ´UÐ
Note : All questions are compulsory.

çÙÎðüàæ	 Ñ	 (i) 	 ÂýàÙ ·ý¤×æ¢·¤ v ßSÌéçÙcÆU ÂýàÙ ãñUÐ §â×ð´ ¹‡ÇU (¥), ¹‡ÇU (Õ) °ß¢ ¹‡ÇU (â) ãñ´UÐ 
ÂýˆØð·¤ ¹‡ÇU ×ð´ z ÂýàÙ ãñ´U ÌÍæ ÂýˆØð·¤ ÂýàÙ ÂÚU v ¥¢·¤ ¥æÕ¢çÅUÌ ãñUÐ ¹‡ÇU (¥) ×ð´ 
ÕãéUçß·¤ËÂèØ ÂýàÙ ãñ´U, ¹‡ÇU (Õ) ×ð´ çÚU@Ì SÍæÙô´ ·¤è ÂêçÌü ßæÜð ÂýàÙ ãñ´U ÌÍæ ¹‡ÇU 
(â) ×ð´ ©Uç¿Ì â¢Õ¢Ï ÁôçÇ¸U° ·ð¤ ÂýàÙ ãñ´UÐ

Instructions :		  Question No. 1 is an objective type question. It contains Part (A), 
Part (B) and Part (C). Each part carries 5 questions and 1 mark is 
allotted to each question. Part (A) has Multiple choice type questions, 
Part (B) has Fill in the blanks type questions and Part (C) has Match 
the following type questions.

		  (ii) 	 ÂýàÙ ·ý¤×æ¢·¤ w âð z Ì·¤ ¥çÌÜƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU w ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´Ð 
(©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ x® àæµÎ ãñUÐ)

			   Question Nos. 2 to 5 are very short answer type questions. Each 
question carries 2 marks. (Maximum word limit of answer is 
30 words.)

		  (iii) 	 ÂýàÙ ·ý¤×æ¢·¤ { âð vv Ì·¤ ¥çÌÜƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU x ¥¢·¤ ¥æÕ¢çÅUÌ 
ãñ´UÐ (©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ z® àæµÎ ãñUÐ)

			   Question Nos. 6 to 11 are very short answer type questions. Each 
question carries 3 marks. (Maximum word limit of answer is 
50 words.)

+

+
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ÂýàÙ-v	 (¹‡ÇU-¥)  çÎ° »° çß·¤ËÂô´ ×ð´ âð âãUè ©UîæÚU ¿éÙ·¤ÚU çÜç¹° Ñ	 [1×5=5]

	 (Part-A)  Write the correct answer from the given options :

	 (i)	 NH3 ×ð´ ÂæØæ ÁæÙð ßæÜæ â¢·¤ÚU‡æ ãñU Ñ

		  (¥)	 sp3	 (Õ)	 sp3d2

		  (â)	 sp3d	 (Î)	 sp3d3

		  Hybridization in NH3 is :

		  (a)	 sp3	 (b)	 sp3d2	

(c)	 sp3d	 (d)	 sp3d3

	 (ii)	 ÁÜ ·¤æ ¥æØÙÙ »é‡æÙÈ¤Ü (Kw) çÙ`Ù ·ð¤ âæÍ ÕÉ¸UÌæ ãñU Ñ

		  (¥)	 ÌæÂ ×ð´ ßëçh	 (Õ)	 ÎæÕ ×ð´ ßëçh

		  (â)	 ÌæÂ ×ð´ ·¤×è	 (Î)	 ÎæÕ ×ð´ ·¤×è

		  Ionic product of water (Kw) increases due to following :

		  (a)	 Increase in temperature	 (b)	 Increase in pressure

		  (c)	 Decrease in temperature	 (d)	 Decrease in pressure

	 	 (iv) 	 ÂýàÙ ·ý¤×æ¢·¤ vw âð v| Ì·¤ Îèƒæü©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU y ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´Ð 

(©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ |z àæµÎ ãñUÐ)

			   Question Nos. 12 to 17 are long answer type questions. Each 
question carries 4 marks. (Maximum word limit of answer is 
75 words.)

		  (v) 	 ÂýàÙ ·ý¤×æ¢·¤ v} °ß¢ v~ Îèƒæü©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU z ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´Ð 

(©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ vz® àæµÎ ãñUÐ)

			   Question Nos. 18 and 19 are long answer type questions. Each question 
carries 5 marks. (Maximum word limit of answer is 150 words.)

		  (vi) 	 ÁãUæ¡ ¥æßàØ·¤ ãUô, ßãUæ¡ Sß‘ÀU ß Ùæ×æ¢ç·¤Ì ç¿˜æ ¥ßàØ ÕÙæ°¡Ð

			   Draw clean and labelled diagram wherever necessary.
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	 (iii)	 °ðâèÅU°çËÇUãUæ§ÇU ·¤æð ¥×æðçÙØæ×Ø AgNO3 ·ð¤ âæÍ »×ü ·¤ÚUÙð ÂÚU ÂýæŒÌ ãUæðÌæ ãñUU Ñ

		  (¥)	 CH3OH	 (Õ)	 çâËßÚU °âèÅðUÅU

		  (â)	 ÚUÁÌ ÎÂü‡æ	 (Î)	 HCHO

		  Acetaldehyde on heating with ammoniacal AgNO3 gives :

		  (a)	 CH3OH	 (b)	 Silver acetate

		  (c)	 Silver mirror	 (d)	 HCHO

	 (iv)	 [Ni(CO)4] ×ð´ Ni ·¤è ¥æ@âè·¤ÚU‡æ â¢BØæ ãñ Ñ

		  (¥)	 àæê‹Ø

		  (Õ)	 °·¤

		  (â)	 Îæð

		  (Î)	 ¿æÚU

		  In [Ni(CO)4] oxidation number of Ni is :

		  (a)	 zero

		  (b)	 one

		  (c)	 two

		  (d)	 four

	 (v)	 °Áæð Ú¢UÁ·¤ ãñU Ñ

		  (¥)	 çÈ¤ÙæòŒÍÜèÙ	

		  (Õ)	 ×ðÜð·¤æ§ÅU »ýèÙ UU

		  (â)	 ×ðçÍÜ ÚðUÇ	

		  (Î)	 ç·ý¤SÅUÜ ßæØÜðÅU

		  Azo dye is :

		  (a)	 Phenolphthalein	

		  (b)	 Malachite green

		  (c)	 Methyl red	

		  (d)	 Crystal violet
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ÂýàÙ-v	 (¹‡ÇU-Õ) çÚ@Ì SÍæÙô´ ·¤è ÂêçÌü ·¤èçÁ° Ñ			   [1×5=5]

	 (Part-B)	 Fill in the blanks :

	 (i)	 NaCl  ·¤æ ÂèÜæ Ú¢U»_____·ð¤ ·¤æÚU‡æ ãUæðÌæ ãñUÐ

		  Yellow colour of NaCl is due to _____.

	 (ii)	 ÕÈ¤ÚU çßÜØÙô´ ·ð¤ pH ·¤è »‡æÙæ _____ â×è·¤ÚU‡æ mæÚUæ ·¤è ÁæÌè ãñUÐ

	 	 Calculation of pH value of buffer solutions is done by _____ equation.

	 (iii)	 ç·¤âè ¥çÖç·ý¤Øæ ×ð´ Öæ» ÜðÙð ßæÜð ·é¤Ü ¥‡æé¥æð´ ·¤è â¢BØæ _____ ·¤ãUÜæÌè ãñUÐ

		  Number of total molecules participating in any reaction is called  _____ .

	 (iv)	 _____ ·¤æð ÂýçÌ@ÜæðÚU ·¤ãUÌð ãñ´UÐ

		  _____  is called antichlor.

	 (v)	 C6H5Cl  ÌÍæ KCN ·¤è ç·ý¤Øæ âð _____ ÕÙÌæ ãñUÐ

		  C6H5Cl and KCN on reaction gives _____ .

ÂýàÙ-v	 (¹‡ÇU-â) ©Uç¿Ì â¢Õ¢Ï ÁôçÇ¸U° Ñ			   [1×5=5]
		    (¥)		           (Õ)
	 (i)	 ¥æ@âè·¤ÚU‡æ	 (·¤)	 µØêÅUæÇæ§üÙ ÌÍæ °ðç·ý¤ÜæðÙæ§ÅþUæ§Ü

	 (ii)	 µØêÙæ N	 (¹)	@ÜæðÚUæð-RÜæðÚUæð-·¤æÕüÙ

	 (iii)	 ÂðŒÅUè·¤ÚU‡æ	 (»)	 ÚðUçÇUØæð-°ç@ÅUß Ìˆß

	 (iv)	 çÈý¤¥æÙ	 (ƒæ)	 çßléÌ-¥ÂƒæÅU÷Ø ç×ÜæÙæ

	 (v)	 °ðç@ÅUÙæ§ÇU÷â	 (¾U)	 §Üð@ÅþUæòÙ ·¤æ çßÜæðÂÙ

	 (Part-C)	 Match the following :

		        A		                       B

	 (i)	 Oxidation	 (A)	 Butadiene and acrylonitrile

	 (ii)	 Buna N	 (B)	 Chloro-fluoro-carbon

	 (iii)	 Peptization	 (C)	 Radioactive element

	 (iv)	 Freon	 (D)	 Adding electrolytes

	 (v)	 Actinides	 (E)	 Removal of electron
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ÂýàÙ-w	 BF3  Üé§üâ ¥`Ü ãñU, @Øô´?			   [2]

	 BF3 is a Lewis acid, why?

ÂýàÙ-x	 ¼ýÃØ×æÙ ÿæçÌ @Øæ ãñU?		   	 [2]

	 What is mass defect?

ÂýàÙ-y	 çßçÜØ×âÙ â¢àÜðá‡æ ·¤æ ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ ÎèçÁ°Ð	 [2]

	 Write down equation of Williamson synthesis.

ÂýàÙ-z	 …ßÚUÙæàæè @Øæ ãñU? °·¤ ©UÎæãUÚU‡æ ÎèçÁ°Ð			   [2]

	 What are antipyretics? Give one example.

ÂýàÙ-{	 PCl5 ÕÙæÌæ ãñU ç·¤‹Ìé NCl5 ÙãUè´, @Øæð´?			   [3]

	 PCl5 is formed but NCl5 does not, why?

ÂýàÙ-|	 ç˜æ…Øæ ¥ÙéÂæÌ ·¤æ çÙØ× @Øæ ãñU? â×Ûææ§°Ð			   [3]

	 What is radius ratio rule? Explain.

ÂýàÙ-}	 ÚðUçÇUØæð-â×SÍæçÙ·¤æð´ ·ð¤ ¥çÖç·ý¤Øæ ·¤è ç·ý¤ØæçßçÏ çÜç¹° ÌÍæ §Ù·¤æ ·ë¤çá °ß¢ 

ç¿ç·¤ˆâæ ·ð¤ ÿæð˜æ ×ð´ ©UÂØæð» çÜç¹° (·¤æð§ü °·¤  ÂýˆØð·¤ ·ð¤ çÜ°)Ð	 [2½+½=3]

	 Write reaction mechanism of radio-isotopes and write its usage in 

field of Agriculture and Medicine (one each) :

ÂýàÙ-~	 ÖæñçÌ·¤ ¥çÏàææðá‡æ ß ÚUæâæØçÙ·¤ ¥çÏàææðá‡æ ×ð´ ÌèÙ ¥¢ÌÚU çÜç¹°Ð 	 [1+1+1=3]

	 Write three differences between physical adsorption and chemical 

adsorption.

ÂýàÙ-v®	 Xe ·ð¤ ¥æ@âè ¥`Üæð´ ·ð¤ Ùæ× ß â¢ÚU¿Ùæ-âê˜æ çÜç¹°Ð	 [1½ +1½=3]

	 Give name and formula of oxy acids of Xe.
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ÂýàÙ-vv	 çÙ`ÙçÜç¹Ì Øõç»·¤ô´ ·ð¤ â¢ÚU¿Ùæ-âê˜æ çÜç¹° Ñ		  [1+1+1=3]

	 (i)	 ãðU@âæ-°×èÙ ·¤æðÕæËÅU (III) @ÜæðÚUæ§ÇUU U

	 (ii)	 ÂæðÅñUçàæØ× ÅðUÅþUæâæØÙæð çÙUç·¤ÜðÅU (II) ¥æØÙU

	 (iii)	 ÅðUÅþUæ-ãUæ§ÇþUæð¥æ@âæð çÁ¢·ð¤ÅU (II) ¥æØÙU U

	 Write the structural formula of the following compounds :

	 (i)	 Hexa-amine cobalt (III) chloride

	 (ii)	 Potassium tetracyano nickelate (II) ion

	 (iii)	 Tetra-hydroxo zincate (II) ion

ÂýàÙ-vw	 (¥)	Üß‡æ âðÌé @Øæ ãñU? §â·ð¤ Îæð ·¤æØü çÜç¹°Ð

		  What is salt bridge? Write its two functions.

	 (Õ)	 çÙ`ÙçÜç¹Ì ¥çÖç·ý¤Øæ ßæÜð âðÜ ·ð¤ çßléÌ-ßæãU·¤ ÕÜ ·¤è »‡æÙæ ·¤èçÁ° Ñ

			   Zn + 2Ag+ → Zn2+ + 2Ag

		  ÁÕç·¤  Eº Zn2 + / Zn ÌÍæ EºAg + / Ag ·ð¤ ×æÙ ·ý¤×àæÑ –0.76 V ÌÍæ 	

	 + 0.80 V ãñ´UÐ			   [2+2=4]

		  Calculate electromotive force (e.m.f.) for the following cell reaction :
			   Zn + 2Ag+ → Zn2+ + 2Ag

		  where the values of Eº Zn2 + / Zn and  EºAg + / Ag  are respectively  
	 – 0.76 V and + 0.80 V.

¥Íßæ / OR

	 (¥)	 çßléÌ-ÚUæâæØçÙ·¤ Ÿæð‡æè ç·¤âð ·¤ãUÌð ãñ´U? §â·¤è ¿æÚU çßàæðáÌæ°¡ çÜç¹°Ð

		  What is electrochemical series? Write its four properties.

	 (Õ)	 çÙ`ÙçÜç¹Ì ¥çÖç·ý¤Øæ ×ð´ âð ç·¤â ¥çÖç·ý¤Øæ ×ð´ ¥æ@âè·¤ÚU‡æ °ß¢ ¥Â¿ØÙ ãUæð 
ÚUãUæ ãñU? çÜç¹° Ñ

		  (i)	 Zn  → Zn2+ + 2e–

		  (ii)	 Sn4+  + 2e–  → Sn2+

		  In which of the following reactions, oxidation and reduction 	
	 take place? Write :

		  (i)	 Zn  → Zn2+ + 2e–

		  (ii)	 Sn4+  + 2e–  → Sn2+
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ÂýàÙ-vx	 ×é@Ì ª¤Áæü @Øæ ãñU?  ¥çÖç·ý¤Øæ  H2(g) + I2(g)  → 2HI(g)  ·ð¤ çÜ° ×æÙ·¤ ×é@Ì ©UÁæü 

ÂçÚUßÌüÙ ·¤è »‡æÙæ ·¤èçÁ°Ð çÎØæ ãñU HI ·ð¤ çÜ° DGº = 1.30 kJ mol–1	 [1+3=4]

	 What is free energy change? Calculate standard free energy change 
for the following reaction :

H2(g) + I2(g)  → 2HI(g)

	 Given DGº for HI =  1.30 kJ mol–1

¥Íßæ / OR

	 °‡ÅþUæòÂè @Øæ ãñU? çÙ`ÙçÜç¹Ì ¥çÖç·ý¤Øæ ·ð¤ çÜ° 298 K ÂÚU °‡ÅþUæòÂè ×ð´ ÂçÚUßÌüÙ ·¤è 

»‡æÙæ ·¤èçÁ° Ñ

			   H2(g) + 1
2

O2(g)  → H2O(g)

	     çÎØæ ãñU	 DH =  –241.60 kJ,   DG =  –228.40 kJ

	 What is entropy?  Calculate the change in entropy at 298 K for the 
following reaction :

			   H2(g) + 1
2

O2(g)  → H2O(g)

	    Given 	 DH =  –241.60 kJ,   DG =  –228.40 kJ  

ÂýàÙ-vy	 (¥)	 ÚUæ©UËÅU ·¤æ çÙØ× @Øæ ãñU? §â·¤è »ç‡æÌèØ ÃØ¢Á·¤ ÂýæŒÌ ·¤èçÁ°Ð	

		  What is Raoult’s law? Explain its mathematical form?

	 (Õ)	 °·¤ z®® ç×.Üè. ÁÜèØ çßÜØÙ ×ð´ ®.{x »ýæ× ¥æ@ÁðçÜ·¤ ¥`Ü ©UÂçSÍÌ ãñUÐ 

çßÜØÙ ·¤è Ùæ×üÜÌæ ·¤è »‡æÙæ ·¤èçÁ°Ð			  [3+1=4]

		  500 ml of an aqueous solution contains 0.63 gm of oxalic acid. 
Calculate the normality of the solution.

¥Íßæ / OR

	 (¥)	 çãU×æ¢·¤ ×ð´ ¥ßÙ×Ù @Øæ ãñU? §â·¤è âãUæØÌæ âð ç·¤âè çßÜðØ ÂÎæÍü ·¤æ 

¥æç‡ß·¤ ¼ýÃØ×æÙ ·ñ¤âð ™ææÌ ç·¤Øæ ÁæÌæ ãñU?		

		  What is depression of freezing points? How is molecular weight 
of a dissolved substance determined with this method? 
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	 (Õ)	 ‚Üê·¤æðÁ (C6H12O6) ·ð¤ 5% çßÜØÙ ·¤æ 25ºC  ÂÚU ÂÚUæâÚU‡æ ÎæÕ @Øæ ãæð»æ 

(R = 0.0821 ÜèÅUÚU  ßæØé×¢ÇUÜ çÇU»ýè –1 ×æðÜ –1 )? »‡æÙæ ·¤èçÁ°Ð 

		  What is the osmotic pressure of 5% solution of glucose  
(C6H12O6) at 25ºC (R = 0.0821 litre atmosphere degree–1 mole–1)? 
Calculate.

ÂýàÙ-vz	 (¥)	â¢·ý¤×‡æ Ìˆß ç·¤âð ·¤ãUÌð ãñ´U? §Ù·¤æ âæ×æ‹Ø §Üð@ÅþUæòçÙ·¤ çß‹Øæâ çÜç¹°Ð	

		  What are transition elements? Write their general electronic 
configuration.

	 (Õ)	 Cu+ ¥æñÚU Cu2+ ·ð¤ §Üð@ÅþUæòçÙ·¤ çß‹Øæâ çÜ¹Ìð ãéU° ÕÌæ§° ç·¤ ÎôÙô´ ×ð´ âð 

·¤õÙ ¥çÏ·¤ ¥Ùé¿é`Õ·¤èØ ãñUÐ			   [2+2=4]

	 	 With the help of electronic configuration of Cu+ and Cu2+, 
explain which one is more paramagnetic.

¥Íßæ / OR

	 (¥)	 K2Cr2O7 °·¤ ÂýÕÜ ¥æ@âè·¤æÚU·¤ ãñUÐ §âð SÂcÅU ·¤ÚUÙð ·ð¤ çÜ° °·¤ ©UÎæãUÚU‡æ 

â×è·¤ÚU‡æ âçãUÌ çÜç¹°Ð 

		  K2Cr2O7 is a strong oxidising agent. Explain this with an 
example along with equation.

	 (Õ)	 ·¤æòÂÚU ·ð¤ çÙc·¤áü‡æ ·¤è ÖÁüÙ çßçÏ ·¤æð â×è·¤ÚU‡æ âçãUÌ â×Ûææ§°Ð 	
Explain roasting process in the extraction of copper along with 
equations.

ÂýàÙ-v{	 (¥)	 ª¤Áæü ¥ßÚUæðÏ @Øæ ãñU? ç¿˜æ Îð·¤ÚU â×Ûææ§°Ð		

		  What is energy barrier? Explain by giving diagram.

	 (Õ)	 àæê‹Ø ·¤ôçÅU ·¤è ¥çÖç·ý¤Øæ ·ð¤ çÜ° ÎÚU çSÍÚUæ¢·¤ ™ææÌ ·¤èçÁ°Ð	 [1+3=4]

		  Determine the expression of rate constant for zero-order reaction.

¥Íßæ / OR
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	 (¥)	 ç·¤âè ¥çÖç·ý¤Øæ ·¤è ¥‡æéâ¢BØÌæ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? ©UÎæãUÚU‡æ Îð·¤ÚU 

SÂcÅU ·¤èçÁ°Ð 

		  What do you mean by molecularity of a reaction? Explain by 
giving example.

	 (Õ)	 ÂýÍ× ·¤ôçÅU ·¤è ¥çÖç·ý¤Øæ ·¤æð â×Ûææ§° ¥æñÚU §â·ð¤ çÜ° ÎÚU çSÍÚUæ¢·¤ ™ææÌ ·¤ÚUÙð 
·¤æ ÃØ¢Á·¤  ™ææÌ ·¤èçÁ°Ð

	 	 Explain first order reaction and determine the expression for 
calculating the rate constant of the reaction.�

ÂýàÙ-v|	 ÂýØô»àææÜæ ×ð´ Ùæ§ÅþUæðÕð´ÁèÙ ÕÙæÙð ·¤è çßçÏ ·¤ô çÙ`ÙçÜç¹Ì çÕ‹Îé¥ô´ ÂÚU â×Ûææ§° Ñ	 [1+1+2=4]
	 (i)	 çâhæ¢Ì

	 (ii)	 ÚUæâæØçÙ·¤ ¥çÖç·ý¤Øæ

	 (iii)	 Ùæ×æ¢ç·¤Ì ç¿˜æ

	 Explain the laboratory method for the preparation of nitrobenzene on 
the following points : 

	 (i)	 Theory

	 (ii)	 Chemical reaction

	 (iii)	 Labelled diagram

¥Íßæ / OR

	 ÂýØô»àææÜæ ×ð´ °çÍÜ-°ð×èÙ ÕÙæÙð ·¤è çßçÏ ·¤ô çÙ`ÙçÜç¹Ì çÕ‹Îé¥ô´ ÂÚU â×Ûææ§° Ñ

	 (i)	 çâhæ¢Ì

	 (ii)	 ÚUæâæØçÙ·¤ â×è·¤ÚU‡æ

	 (iii)	 Ùæ×æ¢ç·¤Ì ç¿˜æ

	 Explain the laboratory method of preparation of ethylamine on the 
following points :

	 (i)	 Theory

	 (ii)	 Chemical reaction

	 (iii)	 Labelled diagram
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ÂýàÙ-v}	 âËRØêçÚU·¤ ¥`Ü ·ð¤ çÙ×æü‡æ ·¤è Òâ¢Â·ü¤U çßçÏÓ ·¤æ ß‡æüÙ çÙ`ÙçÜç¹Ì çÕ‹Îé¥ô´ ·ð¤ 

¥æÏæÚU ÂÚU ·¤èçÁ° Ñ			   [3+2=5]

	 (i)	 çâhæ¢Ì °ß¢ ÚUæâæØçÙ·¤U â×è·¤ÚU‡æ

	 (ii)	 Ùæ×æ¢ç·¤Ì ç¿˜æ

	 Describe the manufacture of Sulphuric acid by ‘contact process’ on 

the basis of the following points :  

	 (i)	 Theory and chemical reaction

	 (ii)	 Labelled diagram

¥Íßæ / OR

	 ¥×æðçÙØæ çÙ×æü‡æ ·¤è ãñUÕÚU çßçÏ ·¤æ çÙ`Ùæ¢ç·¤Ì çÕ‹Îé¥ô´ ·ð¤ ¥æÏæÚU ÂÚU ß‡æüÙ ·¤èçÁ° Ñ

	 (i)	 çâhæ¢Ì °ß¢ ÚUæâæØçÙ·¤  â×è·¤ÚU‡æ

	 (ii)	 Ùæ×æ¢ç·¤Ì ç¿˜æ

	 Explain the Haber’s process of manufacture of ammonia under the 

following points : 

	 (i)	 Theory and chemical reaction

	 (ii)	 Labelled diagram

ÂýàÙ-v~	 (¥)	 çÙ`ÙçÜç¹Ì ¥çÖç·ý¤Øæ¥ô´ ·¤ô â×è·¤ÚU‡æ Îð·¤ÚU SÂcÅU ·¤èçÁ° Ñ	

		  (i)	 Âæç·ü¤Ù ¥çÖç·ý¤Øæ

		  (ii)	 Èý¤èÇUÜ - ·ý¤æRÅ÷âU ¥çÖç·ý¤Øæ

		  Write down the following reactions by giving equation : 

		  (i)	 Perkin reaction

		  (ii)	 Friedel- Crafts reaction

	 (Õ)	 °âèÅUæðÙ ·ð¤ ·¤ô§ü Îô ©UÂØô» çÜç¹°Ð			   [2+2+1=5]

		  Write down any two uses of acetone.
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¥Íßæ / OR

	 (¥)	 çÙ`ÙçÜç¹Ì ¥çÖç·ý¤Øæ¥ô´ ·¤ô â×è·¤ÚU‡æ Îð·¤ÚU SÂcÅU ·¤èçÁ° Ñ

		  (i)	 @Üè×ñ‹âÙ ¥çÖç·ý¤Øæ

		  (ii)	 »æÅUÚU×æÙ-·¤æð¿ ¥çÖç·ý¤Øæ

		  Write down the following reactions by giving equation :

		  (i)	 Clemmensen reaction

		  (ii)	 Gattermann-Koch reaction

	 (Õ)	 °çÍÜ °âèÅðUÅU ·ð¤ ·¤æð§ü Îæð ©UÂØæð» çÜç¹°Ð

		  Write down any two uses of ethyl acetate.
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